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SN FH D
Y MUZH HH (MY - SAIY/MHRE - DTG
@2 NSad 8 &4 (&)
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
301 EtE N = 6,380 1,980 4,400
10 HALAHIE & 2 6,380 1,980 4,400
O3 BLEHRA A5 32 s &4 55,0002 12 %33 1,980
Odd HSANE XY s &4 55,0003 x40H #23| 4,400
307 2Iztol A 39,000 39,000 0
02 gIta & X 33,000 33,000 0
O ZANFAZEETHE LA &0 250,000,000& *5/100 12,500
O ZANZFAZLAZTAH QY 2003 x30,00001 x25 12,000
OMAHAE stEA Fatx A 6,000
— AN (EY, 2+9) 100,000 » 123 404 & 4,800
— Y, SAAF (0, A&) 50,000& x12& 204 & 1,200
Ozt A AlZ BEH XA 2,500
—0td, SLESAZANE 50, 000& *502] 2,500
04 QI2HHALE & 6,000 6,000 0
OTHeHAIE afeldl A XI& 6,000
Ml AlZ &cld] OIBE#AL XI& 1,500, 000& *23| 201 Al & 6,000
401 AIEBIZL 208l 50,000 15,000 35,000
01 Al & HI 50,000 15,000 35,000
OMeAE ZHALY 50,000, 000& =14l 50,000
HENZEUE ALY 700,000 0 700,000
& 420,000
= 280,000
401 Al&HI 2 2 0H I 700,000 0 700,000
& 420,000
= 280,000
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Y MUZH HH (MY - SAIY/MHRE - DTG
@2 NSad 8 &4 (2 &@
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
01 Al & HI 695,590 0 695,590
O SSIAHAL 695,590
—SASUYMEANY M2 HEAEY 695,590,000 =14 695,590
& 420,000
= 275,590
03 Al 2 CHHI 4,410 0 4,410
O S3 A AL 4,410
—SASUYMLEANEY MLZ2 HEAMY 2UHEHI 700,000,000& =0.63% 4,410
AHIX M5 U SIHOHE 53,249 79,378 £26,129
& 2,400
= 50,849
20" X el 46,699 69,628 22,929
101 I 24H] 5,599 5,028 571
04 JI12ZtH 22 NS E+ 5,599 5,028 571
OS2I =343 2LHREA ezl 38,8803 x2H 6L 123 5,599
201 L Er2 I 6,900 13,000 26,100
01 At 22l 6,900 13,000 A6,100
Oger2 2 2,700
— St g8 29 M 50,0002 *x10JH »23| 1,000
— 2SIt g8 dHX M 800& *1,00004 800
— &SI ¥ 2YHAA S0H2 ME 30,0003 304 900
OSIHHHLARAS 22+ 70,0002 x20H #23| 2,800
OSSgy4MUNMFE s 2E+Y 70,0003 x10H #23| 1,400
202 O Hl 2,400 2,400 0
01 =L B 2,400 2,400 0
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=] X XH ol (5 (=] (oz] =2 OH HAL = D}
O=7 & o X2el 20,0003 »2H 602! 2,400
307 2rztol A 31,800 49,200 A 17,400
02 QI2tF&E =X 31,800 49,200 A 17,400
OZeti A AdME=E 16,800
— X0 RASE & 4= Y 70,0003 x20H S M 123 16,800
OZggA FHgH dEE= 15,000
—MYJl RAESE & = ZH 50,0003 #2504 S M «12& 15,000
SEHA N2l 1,750 4,950 A3,200
201 L Et2g | 1,750 4,150 A 2,400
01 AR 2teltl 1,750 4,150 A2,400
OAEI BAH ES MH 100& =1, 50004 150
OHEI 2AAI 2 400,000& *2& »22| 1,600
SIterd e &el(&hl) 4,800 4,800 0
= 2,400
s 2,400
101 @1 24 4| 4,800 4,800 0
= 2,400
o 2,400
04 JI24HZ22RSE+ 4,800 4,800 0
OZHE=AMY 4,800
-5 SIEUH 2F =29 2,400,000 2 4,800
= 2,400
= 2,400
OUX B B35 1,800 1,800 0
Ol X et & A 1,800 1,800 0
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CNYUEH HESH (Y - BAIY /Y
NN D
(=t} o -

2

Ol

= = & E
A B (BH) - HRANY - B e 2

201 L Er2 3| 1,800 1,800 0

01 AtR 22l 1,800 1,800 0
O&R7m SEZA D 1,500& *4004 600
Oz SEHA AIZ 10,0002 *304 2 *43| 1,200

DIAHE F=HEZMNEAY 53,975 108,008 A 54,033
= 28,780
& 5,400
= 19,795

I IMAANAE HEAE (=8I 18,000 30,000 A 12,000
= 5,400
= 12,600

201 L Et2 | 18,000 30,000 A 12,000
& 5,400
= 12,600

01 At 2teltl 18,000 30,000 A 12,000
OZHE= MY 18,000
—IUINZMEBE =3 HIAE LA (2 200,000& *900H &~ 18,000
& 5,400
= 12,600

MOIIOFAAAE DA 35,975 78,008 A 42,033
= 28,780
i 7,195

403 TUtXIEH S A=01 & 35,975 78,008 A 42,033
= 28,780
= 7,195

02 B3I 2SOUSHAAS 35,975 78,008 A 42,033
O=HIEZ AL 35,975




SM: BB
Ha: NOIZR HFEH (MY - SANY/MAVE - DESH)
k=1

el HOINE EAHSBNAAL (ol mel)
SN B O(3H) - NEAY - BYS ofl A2 &]Eg HZ=2
— XAAHE JIAANE A (DFAHE ZA) 204 ,400& «176 Ml CH 35,975
= 28,780
o 7,195
202 g el 2,400 2,400 0]
== 400
= 2,000
202 g &g 2,400 2,400 0
== 400
= 2,000
402 212t X201 & 2,400 2,400 0
== 400
= 2,000
02 QI 2FCH S AFR B 2,400 2,400 0]
OZEHIBZAIY 2,400
— 203 g &4l 2,400,000 2,400
== 400
= 2,000
SMAE (M - SADY/MAISIH) 279,600 2,614,060 N 2,334,460
== 85,000
= 194,600
SMHE It Y 13,000 11,000 2,000
SMAE AIZHIY 13,000 9,000 4,000
201 B2 H| 8,600 6,600 2,000
01 AF22t2l bl 8,600 6,600 2,000
O=sMHZ L UKl E3AIYE E2 8,600
—E2=2 MH 10,000& *300% 3,000
— 30 80, 000-& 200K 1,600




2AM: M
FE: sMYZ (MY - SAIG/M4EI=XNR)
Col: =R JBHE Y (ool @
S BB SA(BH) - MEANY - BES 0f & o8 e HlDZ 2
—WoIdEXH I8 HEl"y 2 4,000& *1,0004 4,000
202 O Hl 2,400 2,400 0
01 =W HI 2,400 2,400 0
O=sMEE g2 60,0003 x2H 20! 2,400
303 Z &3 2,000 0 2,000
01 Zazgd 2,000 0 2,000
OOUXIES =& R8N Z&= 2,000
—R=2H09) 500,000& 101 £ M »23] 1,000
—2x2AM(29) 300,000& =101 2 A 23] 600
—SNEMEH) 200,000& 100 2 M »23] 400
OUEX 2E=Aad 266,600 282,560 A 15,960
& 85,000
i 181,600
HUX 2E3Ar SO(&Hl) 255,000 255,000 0
& 85,000
= 170,000
402 QIZ2tXHE0l A 255,000 255,000 0
& 85,000
= 170,000
01 QIEXtE2 8 & 255,000 255,000 0
OEHIEXZ AL 255,000
— & 22 A (1000t7) 2,550,000& » 1002+ = 255,000
& 85,000
= 170,000
X 25 ArY =HH 11,600 27,560 A 15,960
201 L Et2g | 11,600 2,560 9,040
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HE: =ML (MY S/

()

Cel: UX E= AL (&)
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
01 At 22l 11,600 2,560 9,040
O THAO0 X =Xl2el 11,600
— AT UH X ZH 7X 22 10,0002 »580kw*23] 11,600
HREgs (Y- SA0g/M4gEE - DE3) 166,500 500,000 A 333,500
HEAHH K= 166,500 500,000 A 333,500
HEHH K= 166,500 500,000 A 333,500
701 JIELSI HIE E S 166,500 500,000 A 333,500
01 JIEtSI AN ES 166,500 500,000 A 333,500
s3HIAXE SEE3H dE= 66,500, 000& =14 66,500
O3gig SE3H 8=3 100,000, 000 *14] 100,000
HE2AZH (ZH)(IIEH/IIE) 73,136 73,136 0
Jl 234l 73,136 73,136 0
Jl23Hl 73,136 73,136 0
201 L Er2 I 33,896 33,896 0
01 At 22l 33,896 33,896 0
ORNEN 1,831,000& 16 29,296
O= &l 2,800
— S20A| 7,000 x 16 25 2,800
OSLNESEAMI X 150,000& x1CH~ 123 1,800
202 044l 35,040 35,040 0
01 2 LA YI 35,040 35,040 0
O& LAYl 120,000 x16H x12& 23,040
O&2 o bl 75,0003 x 169 x10 12,000
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M HN¥2AEY (ZHD)(IIEH/DIIE
el =22

x 5 rJEL=S
SA - EB - HA(BH) - NRAY - HES 0f & o8 Slatel
203 =&l 4,200 4,200
04 EN2EERF=EHI 4,200 4,200
OFM2IRFH 350,000& =123 4,200




